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public class DateDemo

{

public static void main (String[ ] args)
{
DateTry datel, date2;
datel = new DateTry();
date2 = new DateTry();
date1.month = “December” ;
datel.day = 31;
datel.year = 2014;
System.out.printin("Date 1:”);

datel.writeOutput();
date2.month = “July”;

date2.day = 5;
date2.year = 2013;
System.out.printin(“Date 2:”);
date2.writeOutput();
}
}
HEFEE L
Datel.:
December 31, 2014
Date2:
July 5, 2013
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H 7 {4 numbered.txt 2 p %
1 Unlike the scanner class
2 You must write your code
3 Toread a single number

7@ original.txt 2. p %
Unlike the scanner class
You must write your code
To read a single number

BufferReader inputStream = new BufferReader(new FileReader(“original.txt”));

PrintWriter outputStream =

new PrintWriter(new FileOutputStream(“numbered.txt”));
int count =0;
String line = inputStream.readline();

inputStream.close();
outputStream.close();
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int num =10;
while (num >0)
{
num = num - 2;
if (num == 0)
break;
if (num == 4)
continue;

System.out.printin(num);
}
System.out.printin(“The end.”);
THARNPERAFREEEZR? [44])
int num, num1;
nuM1=0xA;
num = numl & 0x2;
System.out.printin(num);
num = numl | Ox4;
System.out.printin(num);
num = numl & ~0x2;
System.out.printin(num);
TAHARNPERAFRELZR? [44])
int array[ ] = {87, 68, 94, 100, 83, 78, 85, 91, 76, 87};
int total =
for (int counter = 0; counter < array.length; counter++)
total += array[counter];
System.out.printf(“Total of array elements: %d\n”, total);
THAENMPERAFOEE LR ? [44]
StringTokenizer st = new StringTokenizer(“This is a string for exam.”);
System.out.printin(“Total number of tokens: “ +st.countTokens());
String [ ] tokens = new String[st.countTokens()];
inti=0;
System.out.printin(\nTokens are:”);
while (st.hasMoreTokens())

{
tokens]i] = st.nextToken();
System.out.printin(tokensJi]);
I++;

}
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int[ ] abc = new int[10];
for (inti=1; i <= abc.length; i++)

abc[index] = 3*i;
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# ¥ ¢ # : Taipei_Branch_Sale_information

Sales Name | Product Date Price
C.J. Wang TV 04-July-2013 | 22000
Y.Y Chen DVD Player 03-July-2013 | 5200
Y.S. Chang TV 28-June-2013 | 22500
Y.E. Lin Washer 23-June-2013 | 25000
C.J. Wang DVD Player 22-June-2013 | 62000
# ¥ ¢ # : Tainan_Branch_Sale_information

Sales Name | Product Date Price
L.J. Lee Washer 12-July-2013 | 26000
Y.E Chen TV 08-July-2013 | 22500
L.S. Chang DVD player 25-June-2013 | 5200
L.J. Lee TV 20-June-2013 | 25000
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# & &4 * Student_Score

StudentID Chinese English Computer
A100121 87 79 66
A100122 69 90 87
A100123 65 77 96
A100124 60 83 88
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